A (2%) 0%k

+ =

120~132

J-

Bb/C

Bb/C

Bb/C

Intro.
C7
!

Bb/C !
S 1
7

2 ferd
F’
%
i

il

£
t

F’
-; [

F’
-]4 [

C7

o

\

Fal
7y
)

Dm

A7

c7

c7

c7

Cc7

Dm

Gm

c7

Dm Gm D Gm

Gm

Ila 2‘6!’7’] AT

F

Crese.

C7

c7

L
Cr

(M%)~




L UES
N e s
N &2 0 R
:,_A‘
TNl “ve
Ao
p ke
S IET )
Q%3
N 005
R H
= e
in i
dL,qOD:
w H fo
N = W
1
T
T
t
<+
(9]

T3ET HR K
FeLadnb

Jonp X
b ¥

Jrm—t

B

T Frxw->0vY)

-~
~

T & Jle

| wemong

i

L VKN
o | M
BRI
L) rl )
= {14
gy ©
Y “
= O Q %
S iy s
335m_. N ™
(N« RS ",
v 0
L.T\E 3&
1% /\zﬁ *»
£ itk _
_
¥ 1 G
...wbEr \ 4
LN S
H%\& -ﬁ o
= o
m -~
AVAREBN | e
n.,zu\.d

]
C w——
s

2 g g

Jdo da

nL’

B

Jo
P

Y

KTy P

v 2 3

3 23

G LB 2 B3P 2

ELEL U 2D

—

crs

L3 FLOEV &K

14

hnal










	スライド 1
	スライド 2
	スライド 3
	スライド 4

